BP1 The impact of technological change on businesses manufacturing in the UK
To what extent is embracing technological change the most significant factor in the future success of UK manufacturing businesses? Justify your answer with reference to your own research and the item above.
UK manufacturing businesses have seen a decline in their share of GDP from 22% to 11% in the past decade. Embracing technological change provides future opportunities for UK manufacturing businesses in both mass and niche manufacturing. Investing in capital intensive production has allowed mass UK food manufacturers to re-shore through the use of automation, helping to increase productivity and cut unit costs. Similarly, niche manufacturers in the car and textiles industries have used the latest technology in their production processes to develop highly differentiated products, ensuring an international market for their sales. However, UK manufacturers may not achieve future success in terms of profitability and market growth unless they have the skills required to develop new products. If they are to be successful in the future I believe that UK manufacturers must both embrace technological change and ensure that they have a skilled workforce. This will enable them to increase their share of GDP in future years. 
A good introduction that explains to the examiner how the candidate is going to structure their answer, focuses on the question and identifies the comparison and contrast to follow. The candidate addresses the question by providing examples of future success in terms of profitability and market share.
Embracing technological change can be seen to be the most significant factor in the future success of businesses that operate in the food industry. The competitive environment within this industry means that retailers such as Tesco and Asda are putting pressure on manufacturers to deliver lower unit costs. This requires a lean production approach to ensure efficient manufacturing, with businesses looking to operate at their minimum efficient scale. The use of automation within the production process has meant that speed, accuracy and volume have enabled mass manufacturing, allowing UK manufacturers that supply to supermarkets to maintain a low cost strategy. Clearly, this is of high importance in maintaining contracts within the oligopolistic supermarket industry. Future efficiency gains will lead to increased productivity, improving the chances of renewing these contracts through lower unit costs. Sales of robots increased by 28% in the food manufacturing industry in 2013, leading to higher capital expenditure in the short-term but lower unit costs longer term. This has led to the re-shoring of food manufacturing as UK businesses can compete against cheaper foreign competitors as the UK’s higher wage costs are negated. This is particularly important in the food industry due to the nature of the product. High volume sales in the UK food market has meant that the transport costs of importing food from overseas has become increasingly expensive, particularly with the high energy costs faced by the importers in the supply chain. High stock turnover in the food industry has exacerbated this problem as food is delivered on a daily basis. Re-shoring through automation seems to be the ideal way to overcome this problem, whilst maintaining a closer eye on quality control through higher quality standards and shorter lead times in the UK. By developing close relationships with the supermarkets, alongside improvements in productivity due to embracing technology, UK food manufacturers have been able to become more competitive through lower unit costs leading to greater sales and higher profitability. This suggests that embracing technology is the most significant factor in the future success of UK manufacturers operating in the food industry. 
Reasonable application (Rap). Reasonable analysis (Ran). Evaluation – level 1 (E1). The candidate has made use of the item in order to develop contextualised analysis. It is recommended that the candidate refers to the item in the first analytical paragraph as this will allow them to access the higher levels 4 and 5. The candidate is focused by referring to the question at the beginning and end of the paragraph. Not answering question (NAQ) is one of the most common differentiators between students so it is important that time is spent on deconstruction. The candidate concludes the paragraph by relating the answer to success in terms of profitability and market growth. Many candidates use a generic line of argument that ends in profit. It is important that this is set in the context of the business or industry if this is to be creditworthy.
Embracing technological change can be seen to be a significant factor in the future success of businesses that operate in the car industry. Niche manufacturing processes have allowed UK manufacturing businesses to develop highly differentiated products, increasing market share in established markets such as the US and EU but also developing new markets in the strategically important emerging markets such as the BRICS and MINT countries.  The use of technology has allowed UK manufacturers to produce more cars, with production passing the 1.5m mark in 2013, but importantly, to operate at the top end of the market with mass customisation through CAD/CAM. This has led to high added value in car models across the UK. Whilst Nissan produces quality electric cars in Sunderland, Jaguar Land Rover uses its iconic brand name as the catalyst to produce and sell high end sports and off road cars. Although exports have been helped by the weakness of the pound in the short term, the key has been successfully incorporating new technology into the production process. The similarity to the textiles industry is striking. UK firms have invested heavily in wearable technology and high fashion processes in order to produce the next generation of clothing. As with JLR, UK textile businesses are using the brand name alongside cutting edge technology to develop new products for both old and new markets. This long term focus provides UK manufacturers with a competitive advantage against the international competition. Although the context differs, with these firms operating mass manufacturing as opposed to niche, embracing technological change has allowed them to thrive and will help to ensure future success. These disparate industries have been successful because they have utilised the technology in a manner that suits their product. For cars this has been on a macro-scale with huge multi-nationals such as Nissan, BMW, JLR and Bentley utilising the skills of car workers in the UK to produce state of the art cars. In textiles this can be seen on a micro-level with small innovative UK businesses applying their design skills to technology to create wearable technology such as sportswear. In both industries this is used to target new markets with new product development – a strategy that will hopefully lead to future success.
Rap+. Ran+. E2. Excellent contextual analysis as to why embracing technology can be used to deliver future success for different types of business. The candidate has produced a comparative paragraph that compares the food industry to both cars and textiles. Here, we can see juxtaposition between mass and niche manufacturing. The use of technology has been discussed in different contexts within niche manufacturing. In both contexts technology has been embraced and is used to target future success. Although production scales i.e. macro v micro and the nature of the product i.e. cars v clothes differ it is clear that these dissimilar industries will be successful because they embrace technology.
However, future success is only achievable if the workforce has the skills required to utilise technology’s potential. The shortage of workers, particularly with technology and engineering skills, will place a significant constraint on UK manufacturing’s ability to be successful. In the short term it is apparent that manufacturing has not been seen as an attractive alternative to working in finance, particularly with the lure of high wages in what is perceived to be a much cleaner environment. This has been exacerbated by a decline in manufacturing skills leading to a whole generation missing out through no jobs available or the lack of education and training in this field. The mistakes of past governments have returned to haunt the UK economy as young people have been directed towards the service sector. Core workers have been replaced by offshoring work meaning that the proportion of UK jobs in manufacturing has fallen from 25% to 8% since 1978. Retailers such as Marks and Spencers have sourced products from abroad so that we now struggle to meet the demand for skilled workers. Replacing UK with immigrant technology experts is a stopgap approach that will not provide the mass of additional labour in order to fill the skills gap. Longer term the UK requires increased investment in human capital. This is beginning to take place due to more apprenticeships available and a greater emphasis on STEM education in schools. This change in thinking will lead to improved capability and the ability to make effective use of the new technology within UK manufacturing. This can already be seen as the car industry train up new workers to meet increased demand for products such as the Land Rover Evoque and Nissan Leaf. A flexible workforce is required as new, highly differentiated products are continuously developed. This will help to re-establish UK manufacturing’s reputation for high quality e.g. Sheffield Steel or Northampton shoes. The Made in Britain brand, so successful in the past, can be used alongside new, high quality technology derived products to create future success. However, with 30% of the manufacturing workforce over the age of 50 this can only come about through investing in young people. This long term strategy is vital if UK manufacturing is to achieve future success.
Good application (Gap). Good analysis (Gan). A contrasting analytical paragraph looking at the skills shortage as the most significant factor. The AQA is looking for candidates to compare and contrast within their answer. This can occur within paragraphs but candidates should always structure their answer so that the body of their argument (the three analytical paragraphs) compare and contrast e.g. two paragraphs compared and one contrasted. Here, the candidate uses a range of examples to support their argument as to why the skills shortage is the most significant factor. This third analytical paragraph allows the candidate more scope in their writing as it does not specifically focus on technology but on an issue that the candidate believes is important. Here, the candidate looks at skills shortages but this could well be about the state of the economy, government support etc. This means that the candidate can use their wider research more effectively by ensuring that they have a third analytical paragraph that can be manipulated to fit most questions.
In conclusion, I believe that embracing technological change is the most significant factor in the future success of UK manufacturing businesses. By automating production processes businesses within the food industry are able to increase productivity and lower unit costs. This is particularly important as their main customers, such as the leading supermarkets, have high stock turnover and therefore require an efficient production system that can meet their mass market requirements. By increasing capacity through automation, UK manufacturers can help to meet these requirements, particularly with their closeness to market. Therefore, mass manufacturing perfectly fits the nature of the mass market product and enables the UK to manufacture these products in the future. Similarly, embracing technology has allowed the UK car industry to produce highly differentiated products that are recognised globally. UK manufacturers have extended the life cycle of iconic British brand names as a key part of their strategy, with technology being used for mass customisation and to maintain consistently high quality. Despite food and car manufacturers producing completely different products it is clear that embracing technology is fundamental to the future success of these industries, whether that technology be used for mass or niche manufacturing. However, it is also apparent that UK manufacturing must solve the problem of skills shortages if it is to fully appreciate the potential available to develop new markets. With an ageing workforce it is clear that UK manufacturers require the support of government and a coordinated strategy that will help it to increase the supply of labour and therefore its productive capacity as a whole. Whilst businesses such as JLR are being proactive in developing apprenticeships this is unlikely to be enough to meet the needs of all UK manufacturers. Therefore, increased investment in education and training is required for long term sustainability. Of course, the link between technology and skills is a vital one. If we do not have a highly trained workforce that are able to utilise the technology at hand it is likely that UK manufacturing will not be profitable in future. Whether this is the trained workers who maintain the mass manufacturing assembly lines or the highly skilled engineers working in research and development to produce niche products with state of the art technology the premise remains the same. Embracing technological change is necessary for the future success of UK manufacturing businesses but on its own is not sufficient.
E3. The candidate has provided a clear judgement derived from their prior analysis. The evaluation incorporates the most important factors from the body of the argument and directly answers the question set. All three analytical paragraphs have been referred to within the evaluation, with prioritisation of the most important factors, rather than mere repetition. A strong argument pervades the answer showing that embracing technology has benefited UK manufacturers in different ways, despite the nature of the product. This is emphasised in the concluding paragraph. In essence, the argument remains the same in different contexts i.e. embracing technology is significant whether it is mass or niche manufacturing. The candidate cleverly links technology to skills providing a caveat in the final sentence to suggest that the two are not mutually exclusive. 
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